This drawing Is the property of
Condux International, Inc, and REVISIONS

the Information thereon Is to

be treated as confldentlal. It Is ZONE REV DESCRIPTION DATE APPROVED
not to be used, copled or
disclosed to outside parties 1.0 ADDENDUM A 12-18-2013 BRIAN +®

without our written consent

CURRENT BILL OF MATERIAL

ITEM NIL[PART NOL DESCRIPTION oTY UNIT
FIBERGLASS AND STADMESS STEEL, DRENING FDS CIGHT 5° FoL
STANDARD SUPPORT HANGER ' T84 DUCTS THREADED RIDS THREE @ 3/4=10UNC X 3800 LONG e |EA
WITH STRANDING CLAMPS 2 08610236 | HANGER BRACE ADJUSTABLE: 36 INCH STAINLESS STEEL 3 EA,
3 CIINCRETE_INSERT: 3/4-10 LOIP TYPE, STAINLESS STEEL 32 EA.
4 CONCRETE INSERT SETTING PLUGI 3/4-10 32 EA.
5 CONCRETE _INSERT ADJUSTABLE' 3/4-10 STAINLESS STEEL 52 EA.
6 STRANDING VIRE' % X 500 FT, STAINLESS STEEL |2 EA.
7 GUY STRAND CLAMP+ 3-BILT, STAINLESS STEEL 3 EA.
|os409504 | GUY STRAND CLAMPY 1-BILT, STAINLESS STEEL 46 EA,
9 |ua450053 CONDUIT FIBERGLASS: 5° IPS, MW (5,57 O.D. X .096 WALL> 2240 | FT.
MEETING NEMA TC-144
v 10 Jo8460153 | CONDUIT STOP COUPLING 5° IPS MW 10 EA,
1 08460453 | CONDUIT EXPANSION JOINT O-RING TYPE: 5° IPS MW 16 EA.
N 12 08460953 | CONDUIT SPLIT STOP RING 5° IPS MW 16 EA.
\\t\\ 13 08461553 | CONDUIT ADAPTER 5° IPS MW TO 5° GRC 16 EA,
\%&\ 14 IM CONDUIT EPOXY ADHESIVE CARTRIDGE: s EA
R 15 2288990 | CONDUIT EPOXY ADHESIVE GUN IT EA
AN
c\\‘}%
Ceneral Construction, Hanger ond Condult Notes
1.0 Recommended spacing between Support Is 10 foot.
2.0 Support Hanhger Materlal shall be mahufactured uslhg 316 stalnless
steel and flberglass components.
FDR INFDRMATIDN DNLY 3.0 Condult Is S_Inch Fiberglass with minimum wall thickness of 096 Inch
ABUTMENT SUPPORT HANGER neeting NEMA TC 144 Specs.
WITH STRANDING CLAMPS WORK TO BE PERFORMED BY OTHERS 4.0 Conduit Jolnts shall be positive locking adheslve bonded bell and
splgot.
AND BRACING WITH THE EXCEPTIDN E”'_ PLACEMENT IS.UhCuerIt;I‘t exlpunslon Jolnts sholl be sllding sleeve with provislon for 8
[glm (o] ravel.

I:”'_ INSERTS INTD SUPERSTRUCTURE 6.0 Bridge aobutments must have a block out or be sleeved to allow
the fiberglass condult to pass through, After condult Is placed
through obutment seal up opening with state approved sealant,

7.0 Place concrete Inserts for future support system Hongers will be
Installed ot o later date.
NOTE 8.0 Conduit support hangers weight 2525 LBS total
Condux International, Ihc, Support hanger meet th Flberglass condult weight 2807 LBS total
Condux Iternational, Inc. Support hanger meet the Stalnless steel Hardware Itens NO PART OF THE CONDUIT SUPPORT HANGER vty R eatn LDS totl
Flberglass Items Threaded rod meets (ASTM/ASME BLID CAN EXTEND BELOW THE BRIDGE DECK
Emuz Jacﬁb&é. T Ué__’.nun 105 wall P(SADSTM 4307 Grade A) (Tensile Strength 60,000 GIRDER Grond total belng placed on the bridge Is 24,274 LBS,
Q el L WL wal
Square Tuber 2 x 2 x 1/4 Henmut EXTENDED RODS MAY NEED TO BE ALTERED
F:rneprgluks)s*:ein\‘orc:':! wll'th pol);estﬁrureslnt wllth surface Hexnut meets (ANSI/ASME Bi18.2.2)
vell for better weoathering, resin shall contalns uwv, Moterial: 316 Stainl teel (ASTM F594)
Inhlbltor. Flberglass Is made with continuous strond mat Flatwosher aimess stee CONDUIT SUPPORT CONDUX INTERNATIONAL, INC.
and uni-directional roving, Flotwasher meets (ANSI/ASME B18.22.1) HANGER DETAIL AND MANKATO MN
gray In color Moterlal: 316 stalnless steel (ASTM F436) PH 800-533-2077
Tensile Strength ¢ASTM D 638> 30,000 PSI Lockwasher BILL OF MATERIALS .
Tenslle Modules  (ASTM D 638> 2.3E6 PSI Lockwasher meets (ANSI/ASME Bl8.2LD P ! t C Ed
Flexural Strength (ASTH D 790> 30,000 PSI Moterloli 316 Stalnless steel (ASTM F436) roject om
exural Modules 8 Stranding Items
Compressive Strength (ASTM D 695 20,000 PSI Stranding Clamps (-Bolt & 3-Bolt) DRAWING APPROVAL Peoria Street Bridge over F.AL 290
Compressive Modules 14E6 PSI Materlal 174 x L5 (316 Stalnless Steeld I Eisenhower Exppressway, Cook County Illinolis
Elf#‘é'o?'"ﬁ;faﬁ:;: nf?; h 2000 PSt Strandihg Vire APPROVE THIS DRAWING FOR MANUFACTURING
Dielectric strength (ASTM D 149) 200 VPM Min, o D, T X2 Steet Aircraft) DATE: WEIGHT: 0.0 LBS EA SIZE | FSCM NO. DWG NO. TBA REV
Bracin Noter 1.0
AdJusg‘to.ble honger attachment brackets SE#EEES'?'HEE&EI';ES ARE IN INCHES UNLESS SHEET: 51 OF 55
Materioli angle 25 x 25 x .25 (316 Stalnlss
Steed QUOTE NO. 3985214497 |scae 172 PATE: 10-03-2013 |sHeer 183 OF 356

+




